Y = X1Xo X3X3 X1X9 XgXg

XgX3 = X3z UND-Theorem
XoXg = Xp UND-Theorem
X%; X3 = (x1%2) v x5 Vorrang- und Klammerregel
XX, Xg = (x1x2) v X Vorrang- und Klammerregel
X1X; X3X3 XX Xg¥p = ((x122) v 23)((x122) v xg) Endergebnis
A = XX Substitution
((x1x2) v xg) ((x1x2) v xg) (Avaxg)(Avxg) Substitution
(Avx3)(Avxg) = Av(xzxp) erste Absorptionsgesetz
Av(xzvxg) = X1X5 V (X3 xg) Rucksubstitution

Y =X0X; X3Xg XX Xoxg = ((x1%2) v x5)((x1%2) v xp) = (x1%2) v (%3 xg)

?mrr = XA V3 Xy

KV-Diagramm
0 0 1 1 X1
0 1 1 0 [ Xo
0 0 1 1 1 1
0 1 1 1 0 0
1 1 1 0 0 0
1 0 1 0 0 1
X3 | X2 y
Griiner Block X3 X
Blauer Block (horizontal) X3 Xz
Roter Block (vertikal) X %o
Gelber Block (Uiber Eck) Xp Xz
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